
Definizioni:	
	
- Una	funzione	f	è	una	corrispondenza	fra	due	insiemi	X	e	Y,	che	associa	ad	ogni	
elemento	x	di	X	uno	e	un	solo	elemento	di	Y,	che	viene	indicato	con	f(x):	
																																								f	:	X								Y,	f	è	definita	su	X,	a	valori	in	Y	
	
- 	L’insieme	X	è	il	dominio	di	f;	
- 	Il	codominio	di	f	`e	il	so@oinsieme	f(X)	di	Y	cosCtuito	da	tuD	i	punC	di	Y	che	sono	
immagini	mediante	f	di	punC	di	X;	
- Il	grafico	di	una	funzione	è	il	so@oinsieme	del	prodo@o	cartesiano	X	×	Y	cosCtuito	
da	tu@e	le	coppie	della	forma	(x,	f(x)),	cioè	da	tu@e	e	sole	le	coppie	(x,	y)	che	
risolvono	l’equazione	y	=	f(x);	
	
- se	f	:	X							Y,		g	:	Y							Z	sono	funzioni,	si	definisce	funzione	composta	g	◦	f	:	X							Z,	
g	◦	f(x)	=	g(f(x)),	per	ogni	x						X	(occorre	che:	codominio	di	f						dominio	di	g);	
-	Una	funzione	si	dice	inie8va	se	a	punC	disCnC	vengono	associate	immagini	
disCnte,	ovvero	se:																					
																																																							f(x)	=	f(x’)	=)	x	=	x’		

Introduzione	alle	funzioni	(1)	
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Definizioni:	
	
- Una	funzione	si	dice	surge8va	se	si	ha	f(X)	=	Y	,	cioè	se	ogni	y						Y	è	immagine	di	
almeno	un	x					X;	
-	Una	funzione	si	dice	bige8va,	o	inver;bile,	o	biunivoca,	se	è	sia	inieDva	che	
surgeDva:		per	ogni	y				Y	vi	è	un	unico	x				X	tale	che	f(x)	=	y;	
- la	funzione	inversa	f						è	definita	su	Y	,	a	valori	in	X,	e	ad	ogni	y					Y	associa	
quell’unico	x	per	cui	f(x)	=	y.		
Si	dice	allora	che	f	definisce	una	corrispondenza	biunivoca	fra	gli	insiemi	X	e	Y.	
	
Osservazioni:	
1.  Se	f	:	X							X	è	una	funzione	inverCbile	e	f				:	X								X	è	la	sua	funzione	inversa,	

le	equazioni	y	=	f(x)	e	x	=	f					(y)	sono	equivalenC	e	descrivono	entrambe	il	
grafico	di	f;	

2.  	Scambiando	fra	loro	le	variabili	x,	y,	la	seconda	equazione	diventa	y	=	f					(x)	e	
descrive	il	grafico	di	f					,	il	quale	è	dunque	il	simmetrico	del	grafico	di	f	rispe@o	
alla	bise@rice	del	primo	quadrante.		

Introduzione	alle	funzioni	(2)	
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Introduzione	alle	funzioni	



	
	
	
	
	
	
	
	
	
	

		
	
	
		

Funzioni	limitate	
Definizione:	
	
- 	Una	funzione	f	:	D								R	è	de@a	limitata	se	la	sua	immagine	f(D)	è	limitata,	cioè	se	
esistono	due	numeri	reali	m,	M	tali	che:	
	
	

m	≤	f(x)	≤	M	per	ogni	x	∈	D	

La	funzione	è	limitata	superiormente	se	f(x)	≤	M,	limitata	inferiormente	se	f(x)	≥	m,	
per	ogni	x	∈	D.	

Esempi:	
	
• 	La	funzione	x				non	è	limitata	né	inferiormente	né	superiormente;	
• 	Un	esempio	di	una	funzione	definita	in	[0,	1]	ma	non	limitata	è:	
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1/x	se	x	∈	(0,	1]	,	
0	se	x	=	0	

f(x)	=	



	
	
	
	
	
	
	
	
	
	

		
	
	
		

LimiC	(1)	
Assunzioni:	
v 	Si	indica	con	I	un	intervallo	(non	vuoto)	di	R;	
v 	Sia	f	definita	in	I	\	{x0},	dove	x0	∈	I.	
	
Definizioni:	
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- 	Sia	f	una	funzione	definita	in	I	\	{x0}.	Si	dice	che	un	numero	reale	l	è	il	limite	della	funzione	f	
per	x	che	tende	a	x0	se	per	ogni	ϵ	>	0	esiste	δ	>	0	tale	che:	per	ogni	x	∈	I,	x	≠	x0	si	ha	che:	
																																																										|x	−	x0|	≤	δ	⇒	|f(x)	−	l|	≤	ϵ		
			
Si	scrive	allora:		
	
	
	

• 	Non	serve	che	la	funzione	sia	definita	in	x0;		
• 	lim			x				=	1		
			x→1	

									|x		−	1|	≤	ϵ	equivale	a	√	1	−	ϵ		≤	x	≤	√	1	+	ϵ		quindi,	
										1	–	(1	–	√	1	−	ϵ)	≤	x	≤	1	+	(	√	1	+	ϵ		–	1)	
											

2	

Allora	δ	=	min{1	−√1	−	ϵ,	√1	+	ϵ	−	1}	=	√1	+	ϵ	−	1	



	
	
	
	
	
	
	
	
	
	

		
	
	
		

LimiC	(2)	
Definizioni:	
- Se	il	limite	esiste,	allora	è	unico;	
- 	Sia	I	un	intervallo,	x0	∈	I,	f	una	funzione	definita	in	I	\	{x0}.	Si	definisce:	lim			f(x)	=	+∞,		
	
		se	per	ogni	M	>	0	esiste	δ	>	0	tale	che	per	ogni	x	∈	I,	x	≠	x0	si	ha	che	|x	−	x0|	≤	δ	⇒	f(x)	≥	M	
	(lim			f(x)	=	−∞	se	|x	−	x0|	≤	δ	⇒	f(x)	≤	−M)	
	
- 	Sia	f	una	funzione	definita	in	I	=	(a,+∞)	(risp.	in	(−∞,	a)).	Si	definisce:		
		lim		f(x)	=	l	se	per	ogni	ϵ	>	0	esiste	K	>	0	tale	che	per	ogni	x	∈	I	si	ha	che	:	x	≥	K	⇒	|f(x)	−	l|	≤	ϵ	
	
-	Sia	f	una	funzione	definita	in	I	=	(a,+∞)	(risp.	in	(−∞,	a)).	Si	definisce:	
		limx		f(x)	=	+∞	se	per	ogni	M	>	0	esiste	K	>	0	tale	che	per	ogni	x	∈	I	si	ha	che:	x	≥	K	⇒	f(x)	≥	M	
	
		(lim		f(x)	=	+∞	se	x	≤	−K	⇒	f(x)	≥	M)	
	
- Si	definisce	lim		f(x)	=	−∞	se	per	ogni	M	>	0	esiste	K	>	0	tale	che	per	ogni	x	∈	I	si	ha	che:	
	
		x	≥	K	⇒	f(x)	≤	−M								
	(lim		f(x)	=	−∞	se	x	≤	−K	⇒	f(x)	≤	−M)						
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